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Multiple Choice Questions
A. Synonym Identification (18%; 2% for each item answered correctly)
1. It happened about a score of years ago.
a. 10
b. 12
c. 20
d. 30
2. He took a cursory glance at the headlines.
a. angry
b. cursing
c. resentful
d. hasty

3. Another way to equilibrate the random monetary system is to forbid all

transfers which would increase the total quantity of money.
a. balance
b. retaliate
c. manage
d. rescue
4. He said he was greatly worried, or words to_that effect.
"a. function
b. similar in meaning
c. of consequence
d. spoken eloquently
5. They infer his displeasure from his cool tone of voice.
a. deduce
b. offer
c. incur
d. provoke

6. Tom knows how it feels to have undergone a sudden fall from affluence to

indigence.
a. smooth
b. influence
c. wealth
d. height
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7. "Music, when soft voices die, vibrates in the memory.”

a. oscillates
b. hardens
¢. leaves
d. composes
8. The student is asked to eliminate superfluous words in his thesis.
a. add
b. save
¢. modify
d. remove
9. The complicated directions confounded him.
a. confused
b. convinced
¢. found
d. exhausted

B. (Semantic or Grammatical) Error Identification (12%; 2% for each)

10.The gist is (a) that job seekers use Facebook's advertising platform to target
specific employers they want to work (b) for. They write a short (¢) ad, (d)
including a picture of themselves, and link to an online version of their
résumeé.

11. Those who apply (a) resourcefulness and an inventive approach (b) for their

-job (c) search may have a better chance of standing out in the minds of (d)
hiring managers.

12. The so-called transferable skills are (a) talents you've acquired (b) that can
help an employer but (c) those aren’t immediately relevant (d) to the job
you seek.

13. The {a) phenomenon known as the "contrast effect” also (b) skews the
Judgment of interviewers. A suitable candidate may be (c) overestimated
because he or she is different from a previous one who (d) appears
exceptionally intelligent.

14. It was (a) once believed that (b) being overweight was healthy, but
nowadays (c) a few people (d) subscribe to this viewpoint.

15. In another experiment, (a) results showed that certain people have a specific,
(b) biological induced hunger (c) for carbohydrates. When peaple eat
carbohydrates, the level of serotonin, a neurotransmitter in the brain, (d)

rises.
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H. Translation (3-0%; s ); &aal«-)

A. Translate the following into Chinese
1. The company rewards the employees, who work hard.
2. The company rewards the employees who work hard.

B. Translate the following into English (Please transiate Item 3 as a declarative
statement. That is, please do NOT transiate it into a question.)
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